AT A = (x| 20 015F] B4 |9 REHT FoIH U& 1, 15
BFEA] ERHeha, G B ohe BEAE] AT

@ 17 @)2 7 @ 37 @ 47) ® 57

, 3,5, 7, -+, 19) O] REAZ ZF A4 1, 155 HIEA|
Skal, A4 3, 5, 7, 11, 13, 17, 19& Z§5Hx] = HE

9ge] A% 21027 = 91 — 2 ()




FAFA={xlx=a I}, B={1, 2, 4, 7, 14, 28}°] tf5}]
AcBolll BcAY 4, g9 7t&?

@ 7 ou @n @  ©5%

A c B°|1l Bc AE= A = Bo|tt. gt BE 289 oF+E9]
mololnZ 4 = 280|th




HAA-A? U = {a,b,c,d,e} o] F FEHT A, B ol st A - B =
(@), B—A={c},A°N B = {b,e}) A W, AnB=?

D {b} ONd) ® {b,d}
@ {b,c,d} ® {d,e}

A-B=1{a),B—A={c},A°N B = {b,e} ©|2& AN B = {d}
ojtt.




4. 2 A a,b ol N5t |a+bl < lal+1b] 01 HES SHE Aol

(%) la+ bl > 0,lal + b] > 0 | B2
la + b < (lal + [b])* = SE5HH Hrt.
(lal + 1b1)? = la + bf?

= lal* + 2lallb| + |bI* - (a + b)?

= a? + 2lab| + b? — a® — 2ab — b?

= 2(|ab| — ab)

a4, (7H) °1 22 2(|ab| - ab) = 0

" la+ b? < (la] + |b])?

wW2tA |a + bl < |al + |b]

oq7|A, 557 AEoke A= (W) € o,
= ab >0 ¥ wjo]ct.

911 27 A (1), (ol LES AS AW 22 A2
@ lab| = ab,a = b (@)lab |> ab,| ab |= ab
® |ab|< ab,| ab |= ab @ |ab|=ab,a=0

® |ab|=ab,a=b

(7} : lab| > ab(" labl= B F5

=% )
(W) : 2(labl - ab) = 0L ™, = |abl = ab




A =1{1,2,3} &} B={1,2,3,4} ollA] A ol|A] BES] F2] A5
a, LD 0 M4E b, B FFA AFE cH S W, a+b+c 9
A& ohH?

O 64 @ 32 ® 128 @92 ® 48

8

(1) e At 1,2 3,4 & 38 7155H 3 A A=sty
Solgt Aot gonz
SLa=4x4x4=064
(2) AL B4 A 1 1,2,3, 48 5 glo] 378 Aealo]
Lol 5oz
Lob=4%x3x2=24
(3) A9 a0 - ol 1, 2, 3, 4 5 o ARt
-85 FeolBE
c=4
A—L>B
1
2
3
3 4
“a+b+c=92




22 -2x+4=18, x>-2x-14=0
AP Al 0] Sk A0 A lstel T x 9] 2] e




y=x+|x]| A
x<0¥8dy=x-—x=00]1L

x>0 o y=x+x=2x©|th

wetA] Fol3 f4o] 1o @s} 2t




e 1 _é+ B

°Clx(x+1)  x  x+1
Fshd? (2, A, B=3)

Do @1 3)2 @ 3

Fol1l o] Swg Hejoh
A(x+1)+Bx (A+B)x+A

x(x4+1)  x(x+1)
(A+Bx+A 1 o
= x(x+1) x(x+1) ==
A+B=0,A=1
S B=-1

S A-B=1-(-1)=2




O 11 @ 12 ® 13 @ 14 ®)15

225 68 1 1
ﬁ:1+m:1+ﬁ:1+2—21
N +_
68 68
:1—1—;1:14-;1
2 4k 5 2+—1
3+ﬁ 3“1‘—1
4+g

ca=1,b=2¢c=3,d=4, e=5

“a+b+c+d+e=15




o AAAE

o] O

1
x

x+1

—2x-1

@ ® ® Q0

ON®

®o,®

® 0,606

+pEo| Hrt.
—x-1

1
xX—a

y:

Qy

o\
|
i
— — |+
T =
i Il
— _1
=
L
He E
=l E
1| =
3 Il
=
= o=|+
=1 &L
= |
I I
> >




11.

Ay =Vt [x [ FA y = x+ k7 A2 THE Al FojlA] T s
St A4 k9] Fhel QS olH?
1
_ _ < —
@ 1<k<10 @ 1<k_10 (@)O<k<2
@03k<5 @O<k£§

B

x20¢ W y=+vV2xolaLx<0 uf y
y=00E&

y= Vxtlx]9 2=

T PR HH y = x4k} AR ThE

(i)
(ii)

y=yz+|z|

Al Aol A The 4
(1)3F (il )Areloll EAslioF gt
OIdy= vVaxd A y=x+k7t o
V2x = x + kA 2x = (x + k)?

P 4+2k-1)x+k2=0

o] BFg 41 e] WAL Dt ol

D
4

=k-1)2-k*=0, -2k+1=0

1
Sl ==
2
@ &My = x+ k7t DA AL Wk =0

@, @A Fste ko] #A A= 0<k< 5

DO =




12.

HE A ={(a b)laxb =09, a b= AT} 4 o, F& n(A)
vr2 ] 1k 229

o2 @3 ® 4 @ 5 ® 6

1x9=3x3=9x1=90]82 gdAayydHoz JepfiH
A={(1,9), (3, 3), (9, 1)} o]t}.
son(A)=3




@
(A
NnC)-B
®
(AUB
)-C

@
(AnB)-C

@(AUC)
-B

®
(BUC)-A

(AucC
)—-B
ol

)

o
= Uehy

=k
‘__mu
I
o
il
-
=

‘__mL
_ZE
vA




Ao st = Z2A p : a<x<1, g : x>-1°] ot HA
p— g% 3o] B SH A a o] W
®a>1 @aS]. @—135;51

C@)az—l ® a<-1

p. ¢ 9 AH}E 22 P, Q&) Sk
(i)a>1¥ P=0OBE2 PcQ. a>1
(i) a<1 & o, 2] e

0.




OAA: HHE) x=-2, y=-1¢< 0,
xy=2>00°]Aq -2 <00°]3 -1<0 |t}
@AA @) x=-2, y=3<4 0,
x+y=-2+3>00°]AT -2<00°]1L3>0 |t}
@AA : Ft) x=2, y=-2¢ 0,

@ |x-1 < |x-3 & FHS AlEstA

x2—2x+1<x2—6x—|—9°ﬂ/‘1 x< 20|82 o] YA}t 1
Ho| R Zto|}.

@“ﬂlﬂ ‘a>0°]2lb>0°"a*>+0*>0"

2 ZolA| gk, 1]
a+b2>00Ha>00]2p>02 AAo|Tt

£l




@ va+ Vb= Va+b
® a®+0b®>abla+b)

@a2—1>a

® (a+b)(b+c)(c+a)>8abe

B

a>0,b>0,c>0

D a—l—b_ ab_a—l—b—ZVab
= 5
_E

b _
2AE0 s Vab (53 AUEAL a=b)

@ (Va+ Vb)* = (Va+1b)?

=a+b+2Vab- (a+b)—2\/_bZO

L NVa+ Vb Va+b(Fa=bE" TIHFH)
® a®+b*—ab(a+b)

= (a+b)(a® —ab + b?) —ab(a + b)

= (a+b)(a® — 2ab + b?)

=(a+b)(a-b)?20

nad+ b2 >2abla+b) (GEAHERALa=0b)

@ (St a=1
12-1>1,0>1
L A3

® a,b,c 7} 5 oFolB 2
a+b>2Vab (FEAYZAL a=b)
b+c22Vbe (5T AEZALbh=C)
cta>2+vea (GEAAHERAL c=a)
(a+b)(b+ c)(c+a) = 8Va2b?c? = 8abc




0<x<19 f(x)=x(1-x)0]aL BE A% xof thsto] f(x+1) =
1 = Z =1L Sl o 5 o
() B WSS B4 £ 7 9k ol w7 (D) ol e

3 1 1 3 1
o2 o+ @ o2 01




18. H¥ A = xjo<x<2} o stA FF=fF: A - AE flx) =

1 O=x<l) o o aosio o 1 2 (1
{x_l o el s e g (5) + 2 (5) +

1\ 4 o
(1) A ges
(%’fg:fof? fS:fofof, )

@ 20 @25 ® 30 @ 35 ® 40

4 1
=15--+15-- =25
371003




19.

Fo| Ao A Fold F

nol

&4 f(x) = x2 + 2x, h(x) =

100x + 200
f(x)

of tiste] f(x) o HAE g(x) 2t 2w, (hog)(8) o F2?

B

=k +2k=8

@® 10 @ 20 ® 30 @ 40 @50
g(8) = k 2tal SFH f(k) = 8 ©JTt.
>k=-42=k=2(" k>0)

f2)

o (hog)(8) = h(g(8)) = h(2)
100 X 2 4 200

=50




20.

ool (x| - 2<x<0 A F TP y=2(x +2)+1,y= 2
o thste] y = x+r 9 ATty = \/2(x+2)+1 9] T ZHTH=
ofefell gLy = 2 2 9] e weks 9lo] 92 1, r & W97}
r<r<ry 2F1 Sk 3ry — g O] 3 FLSHH?

@1 o1 ® 2 @ 3 ® 4

~&B

-2 < x<0 94
y= VAEF ) +13y= 2 ~29] TARE YepE o2

IHI} 2

yl\
3y=\/2(x+2)+1
78\
|
_2 >
P4 !
, )
i ?

O

1, y=x+r2o 227}

— AT D) 41 Temn
Feflol YoB R /<3

g y=x+r9 2t

y:li_zs»JJaLﬁ_iu}
- X

o =

HH

Aol o=z r> 2

2
.'.§<r<3

et =2, =3 oln2

2
.'.3r1—r2=3-§—3=—1







@ a, b, ¢ 3 HoJk sft= 1 Eot A
© a, b, ¢ °] FHZo] 1 B} At}
© a, b, ¢ O] F&Fko] 1 Et A}

e, T3, BRFE @ & BRFTE T
g, 485, T8 @ I, 28, eFE

Q (a—

1)(b=1)(c=1)>0°]"H,a-1, b-1, c—1F oIt} =
Aol Fro]l BR BQE HJOR =2 b=2 ¢c=-3°H
(a-1)(b-1)(c—1) <0 O|ER FEZAL o} Yt}
~gex

O (a-1)(b-1)(c-1) > 0°|H a, b, ¢ T SF} EEAlo] 1 B}

382 AYgte 1 Bt Ak do24=2 b =2, ¢ = -3

OlH (a-1)(b—1)(c - )<00]U§ SEZAL ofYt},

~gazxA

©a, b, c 8 el 1 Hy 2WH (a-1)(b-1)(c-1) >0
olBR FHZAIOR 4=2b=0, c=0°]" F£Z20
bz gex72 ofyrt.




23. 17+ V2889 &4 HE S xgt & of,
X+ 24+ Vix + x2

of gre a7

x+2— Vix + x2
@\/§+1 @ V3+1 ® V2-1
@ V3-1 ® V5-2

~&B

17 + 288
= 174+ 2V72
=VO+ V8 («17=9+8, 72=9x8)
=34+2V2(« V2=14xx)
=58xx O|BZ ALRHELO 31 942 50|t}
Lx=2V2-2 1 x+2=2V2
2 4+4x+4=(x+2)20|E=2
P dx=(x+2)2-4=(2V2)2-4=4
wEhA] E40 x +2 =22
P+ 4x =45 HYA|Z|H
x+ 2+ Vix+x2
x+2— Vdx +x2
2V2 +2
2v2 -2
\/§+1_\/(\/§+1)(«/§+1)
V2-1 | (V2-1)(V2+1)

=/ (VZ+1)2=V2+1




24.

Tt f(x) = Vx+20] tiste] y =

f(x) o] 2=z el xFo] e M-S
Ay = f1(x) 9 2z} yZo] wht
e Bet stk y = f() %y = (%)
ol A mrt vht= S Pt & o,

DO
s
3
=
&

A%_“}

429 ABP €] Wol& Fohw?

o5  @s ® 4v2
@ 8 ® 10

-9 /2 T

B

y= f(x) = VA T2 o HOAL (x| x>
xSy EANZHEHE x= Y+ 2

y ol Toto] A2|otH y = x% -2
b y = £ (x) = 2~ 20] 1
AYYL2 (x|x= 0}, G2 {yly > -2}
olm, y = f(x) <

y=f"(x)9 LH2
y=f(x) &y=x9
W Zr,

Vi+2=x, x+2=2x2
P-x-2=0,
5=2 8= g==1
Lx=2,y=2(-x>0)
P2, 2)

AB °] 54& MolgtstH M (-1, - 1)
ABLPM o]t}

AB= V22122 =22

PM = V32 +32=3V2

wr2bA AABP 9] WolE Sef otd

S:%xﬁxm:%x%ﬁxS\/ﬁ:G

-2}, A9 {y|y=0}

P(2,2)

A
-2,0 M (0,-2)

(-1
AABPE AP = BP¢] o|SHAtztgol 2




25.

+ 2|, x# 1044}
x-1
C={(xy)ly= Vx—n+2,x2>nl A} thst] n(AnB) =3
o]7] 91gt m 2] W= @n(BNC) =2 o]7] 95t n 2] H & ©c]tt.

@@mzé On>1 @@ng On<1
®®m>% @nzz @®m>§ @nsg
® @ng ©n<2

Q: THAYE, QR Ao 3= ™
w3go] 374 oftt.

O:m(%—i—l)—lcﬂ]ﬁm:;

o S HSIE >

©: 279 Ot} A% 312 v
o] 2 o]},
y— 29 oo pEe 2 — 'Lm‘
x—1

oA

3
(1’ 2)
R

"=




